Icosahedron

The icosahedron is inscribed in a sphere of radius equal to 1.
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Vertices coordinates


 




	1
	c1
	0
	c2

	2
	-c1
	0
	c2

	3
	0
	c2
	c1

	4
	0
	-c2
	c1

	5
	c2
	c1
	0

	6
	-c2
	c1
	0

	7
	-c2
	-c1
	0

	8
	c2
	-c1
	0

	9
	0
	c2
	-c1

	10
	0
	-c2
	-c1

	11
	c1
	0
	-c2

	12
	-c1
	0
	-c2



Edges

[(1, 2), (1, 3), (1, 4), (1, 5), (1, 8), (2, 3), (2, 4), (2, 6), (2, 7), (3, 5), (3, 6), (3, 9), (4, 7), (4, 8), (4, 10), (5, 8), (5, 9), (5, 11), (6, 7), (6, 9), (6, 12), (7, 10), (7, 12), (8, 10), (8, 11), (9, 11), (9, 12), (10, 11), (10, 12), (11, 12)]

Faces

[(1,2,4), (1,3,2), (1,4,8), (1,5,3), (1,8,5), (2,3,6), (2,6,7), (2,7,4), (3,5,9), (3,9,6), (4,7,10), (4,10,8), (5,8,11), (5,11,9), (6,9,12), (6,12,7), (7,12,10), (8,10,11), (9,11,12), (10,12,11)]
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